Enterprise Wi-Fi Solution Opened by the Wyoming City Clerk- May 25 @ 11:00 AM One Bid Received

1. Office Area				
Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
vWLC C9800 CL Vmware	1	1	\$397.00	\$397.00
C9115AXI-B	2	3	\$587.00	\$1,761.00
			Wi-Fi Components Total	\$2,158.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts,Labor Estimate Total	\$5,250.00
			Zone Total	\$7,408.00
Zone Notes: ACCESS POINTS E-207-1, E-207-2, E-207-4	•	,		

2. Loading Dock				
Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	2	\$692.00	\$1,384.00
			Wi-Fi Components Total	\$1,384.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$3,500.00
	77.4		Zone Total	\$4,884.00
Zone Notes: ACCESS POINTS E206-1 E-207-3				

Wi-Fi Components Total \$2,0 Electrical and Network Parts.Labor	Ni-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
Estimate for required electrical and network Total \$2,0 Electrical and Network Parts.Labor	:9115AXE-B	1	3	\$692.00	\$2,076.00
Estimate for required electrical and network Network Parts.Labor					\$2,076.00
wiring Parts & labor for this Zone 1 LOI Estimate Total \$5,2	stimate for required electrical and network viring Parts & labor for this Zone	1 LOT			\$5,250.00
Zone Total \$7,3		MVF11 - U		Zone Total	\$7,326.00

4. High Service Pump Gallery				
Wi-Fi Component Item Description	Item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	4	\$692.00	\$2,768.00
			Wi-Fi Components	
			Total Electrical and Network	\$2,768.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Parts.Labor Estimate Total	\$7,000.00
			Zone Total	\$9,768.00
Zone Notes: ACCESS POINTS E-206-3, E-206-4 E-206-5, E-206	5-6,			

5. Lab IT Office & Hall				
Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXI-B	1	1	\$587.00	\$587.00
			Wi-Fi Components Total	\$587.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$1,750.00
			Zone Total	\$2,337.00
Zone Notes:ACCESS POINT E-206-1	·			

ltem#	Otv		Bid Price for
·	Otv		
1	,	Bid Price Per Unit	Zone
<u> </u>	2	\$587.00	\$1,174.00
		Wi-Fi	
		Components	
		Total	\$1,174.00
		Electrical and	
		Network	
		Parts.Labor	
1 LOT		Estimate Total	\$3,500.00
		Zone Total	\$4,674.00
			1180.
· · · · · · · · · · · · · · · · · ·	1 LOT		Components Total Electrical and Network Parts.Labor Estimate Total

7. 2nd Floor Training Room				
Wi-Fi Component Item Description	Item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXI-B	1	. 2	\$587.00	\$1,174.00
			Wi-Fi Components	
			Total	\$1,174.00
			Electrical and	
			Network	
Estimate for required electrical and network wiring			Parts.Labor	
Parts & labor for this Zone	1 LOT		Estimate Total	\$3,500.00
			Zone Total	\$4,674.00
Zone Notes: ACCESS POINTS E-211-1, E-211-2 Confirm	n AXI			

(

Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXI-B	1	1	\$587.00	\$587.00
			Wi-Fi Components Total	\$587.00
Estimate for required electrical and network			Electrical and Network Parts.Labor	
wiring Parts & labor for this Zone	1 LOT		Estimate Total	\$1,750.00
			Zone Total	\$2,337.00
Zone Notes: ACCESS POINTS E-210-2				TO TO THE STATE OF
				- AV 5.1/A
	· · · · · ·			

Item	# Qty	Bid Price Per Unit	Bid Price for Zone
-		\$587.00	\$587.00
		Wi-Fi Components Total	\$587.00
		Electrical and Network Parts.Labor Estimate Total	\$1,750.00
		Zone Total	\$2,337.00
			//
			Wi-Fi Components Total Electrical and Network Parts.Labor Estimate Total

Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115ĀXĒ-B	1	7	\$692.00	\$1,384.00
			Wi-Fi Components Total	\$1,384.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT	No.	Electrical and Network Parts.Labor Estimate Total	\$3,500.00
	H 114 114 1		Zone Total	\$4,884.00
Zone Notes: E-214-1, E214-2			į	

item#	Qty	Bid Price Per Unit	Bid Price for Zone
1	1	\$692.00	\$692.00
		Wi-Fi Components Total	\$692.00
		Electrical and Network	
1 LOT		Parts.Labor Estimate Total	\$1,750.00
-		Zone Total	\$2,442.00
	1	1 1	Wi-Fi Components Total Electrical and Network Parts.Labor Estimate Total

Wi-Fi Component Item Description	Item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	1	\$692.00	
Oberon Enclosure	2	3	\$259.00	\$777.00
			Wi-Fi Components Total	\$1,469.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$1,750.00
			Zone Total	\$3,219.00
Zone Notes: North Treatment Facility Chemica	l Applicat	on A		\$3,219.

13. NTF Filter Gallery				
Wi-Fi Component Item Description	ltem#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	4	\$692.00	\$2,768.00
			Wi-Fi Components	
			Total	\$2,768.00
Estimate for required electrical and network wiring			Electrical and Network Parts.Labor	
Parts & labor for this Zone	1 LOT		Estimate Total	\$7,000.00
			Zone Total	\$9,768.00
Zone Notes: ACCESS POINTS E-205-1, E0-205-2, E-204	I-1, E204-	2		

14. NTF Filter Pipe Gallery				
Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	3	\$692.00	\$2,076.00
			Wi-Fi Components Total	\$2,076.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$5,250.00
			Zone Total	\$7,326.00
Zone Notes: ACCESS POINTS E-215-1, E216-1, E-21	16-2			

()

15. HS Pump Pipe Gallery				
Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	4	\$692.00	\$2,768.00
			Wi-Fi Components Total	\$2,768.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$7,000.00
			Zone Total	\$9,768.00
Zone Notes: High Service Pump Pipe Gallery AC 4	CESS POIN	ITS E-20	00-1, E-200-2, E-200-3, E-200-	

16. Bridgeway			
Wi-Fi Component Item Description	ltem #	Qty	Bid Price Per Unit
			0
			Wi-Fi Components Tota
Estimate for required electrical and network wiring			Electrical and Network Parts.Labor Estimate
Parts & labor for this Zone	1 LOT		Total
None			
Zone Notes:			Zone Total

17. STF Filter Gallery				
Wi-Fi Component Item Description	ltem#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	. 5	\$692.00	\$3,460.00
and the second of the second o				
			Wi-Fi Components	
			Total	\$3,460.00
			Electrical and	
Estimate for required electrical and network			Network Parts.Labor	
wiring Parts & labor for this Zone	1 LOT	-	Estimate Total	\$8,750.00
			Zone Total	\$12,210.00
Zone Notes: E-161-1, E161-2, E-162-1, E-163-1,	, E164-1			
				1144
				1100

18. STF Hoistway Area				
Wi-Fi Component Item Description	item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	_1	\$692.00	\$692.00
			Wi-Fi Components Total	\$692.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$1,750.00
			Zone Total	\$2,442.00
Zone Notes: E-165-1				
				0

19. STF Basin Area				
Wi-Fi Component Item Description	Item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	3	\$692.00	\$2,076.00
			Wi-Fi Components	
			Total	\$2,076.00
Estimate for required electrical and network wiring			Electrical and Network Parts.Labor	
Parts & labor for this Zone	1 LOT		Estimate Total	\$5,250.00
			Zone Total	\$7,326.00
Zone Notes: E-157-1 -1, E158-1, E159-1,				

(+

Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	11	\$692.00	\$7,612.00
C9115AXI-B	2	1	\$587.00	\$587.00
			Wi-Fi Components Total	\$8,199.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$21,000.00
			Zone Total	\$29,199.00
Zone Notes: South Treatment Facility Centrifuge – Chemincluding hallways ACCESS POINT E-154-1, E-154-2, E-155-3, E-155-4, E-155-5, E-156-1, E-156-2, E-156-3	, -			

21. STF Filter Pipe Gallery				
Wi-Fi Component Item Description	Item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	3	\$692.00	\$2,076.00
			Wi-Fi Components Total	\$2,076.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$5,250.00
			Zone Total	\$7,326.00
Zone Notes: ACCESS POINTS E-145-1, E-145-2, E-147	7-1			

22. STF Wash & Transfer Pump				
Wi-Fi Component Item Description	ltem#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	2	\$692.00	\$1,384.00
			Wi-Fi Components	\$1,384.00
			Electrical and Network	\$2,354,00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Parts.Labor Estimate Total	\$3,500.00
			Zone Total	\$4,884.00
Zone Notes: Wash and Transfer Pump Gallery Access Points E-144-1, E-147-2				

(+

23. STF Blowers & Storage				
Wi-Fi Component Item Description	ltem#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	4	\$692.00	\$2,768.00
			Wi-Fi Components	
			Total	\$2,768.00
Estimate for required electrical and network			Electrical and Network Parts.Labor	
wiring Parts & labor for this Zone	1 LOT		Estimate Total	\$7,000.00
			Zone Total	\$9,768.00
Zone Notes: South Treatment Facility Blowers, In Area ACCESS POINTS E-151-1, E-151-2, E-153-1,		umidif	ication and Storage	

24. STF Floc Drives & Passage				
Wi-Fi Component Item Description	ltem#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	1	\$692.00	\$692.00
			Wi-Fi Components Total	\$692.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$1,750.00
			Zone Total	\$2,442.00
Zone Notes: South Treatment Facility Flocculation Drive: ACCESS POINTS E-143-1,	s & Passa	gewa	y	

25. STF Solids Residuals Hand				
Wi-Fi Component Item Description	Item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	5	\$692.00	\$3,460.00
			Wi-Fi Components Total	\$3,460.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$8,750.00
			Zone Total	\$12,210.00
Zone Notes: South Treatment Facility Solids/Res	siduals Ha	ndling	(sub-basement area)	

26. STF Thickener & E.Q. Basins				
Wi-Fi Component Item Description	ltem #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	2	\$692.00	\$1,384.00
			Wi-Fi Components Total	\$1,384.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$3,500.00
THE PARTY OF THE P	<u> </u>		Zone Total	\$4,884.00
Zone Notes: ACCESS POINTS E-150-1, E-150-3		· ·		

(;

(

Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	1	\$692.00	\$692.00
			Wi-Fi Components Total	\$692.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$1,750.00
			Zone Total	\$2,442.00
Zone Notes: ACCESS POINTS E-150-2				

28. STF Chem Stor & Transfer RM				
Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	3	\$692.00	\$2,076.00
Oberon Enclosure	2	3	\$259.00	\$777.00
			Wi-Fi Components Total	\$2,853.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$5,250.00
			Zone Total	\$8,103.00
Zone Notes: South Treatment Facility Chemical hallways ACCESS POINTS E-149-1, E-149-2, E-14	_	Trans	fer Rooms, including	

29. STF Laboratory				
Wi-Fi Component Item Description	Item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXI-B	1	. 2	\$587.00	\$1,174.00
			Wi-Fi Components Total	\$1,174.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	\$3,500.00
		 	Zone Total	\$4,674.00
Zone Notes: ACCESS POINTS E-120-2, E-120-1	.	<u> </u>	Zone rotal	34,074.0
				740

(]

30. STF Chemical Unloading				
			Bid Price Per	
Wi-Fi Component Item Description	Item #	Qty	Unit	Bid Price for Zone
AIR-9124D	1	1	\$1,210.00	\$1,210.00
			Wi-Fi	
			Components	
			Total	\$1,210.00
			Electrical and	
			Network	
Estimate for required electrical and network wiring			Parts.Labor	
Parts & labor for this Zone	1 LOT		Estimate Total	\$1,750.00
			Zone Total	\$2,960.00
Zone Notes: Add outdoor AP				
<u> </u>				

31. Generator Building				
Wi-Fi Component Item Description	Item#	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	2	\$692.00	\$1,384.00
			Wi-Fi Components Total	\$1,384.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	
			Zone Total	\$4,884.00
Zone Notes: Generator Building, including Control an	.l d Equipme	ent Are	L.,	

 $\left(\begin{array}{c} 1 \\ 1 \end{array} \right)$

32. Holland Interconnect Bld				
Wi-Fi Component Item Description	ltem #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	1	\$692.00	\$692.00
			Wi-Fi Components Total	\$692.00
Estimate for required electrical and network wiring Parts & labor for this Zone	1 LOT		Electrical and Network Parts.Labor Estimate Total	
				\$2,442.00
			Zone Total	-
Zone Notes: Holland Interconnect Building			Zone Total	

\$10,466.00

Total Labor Cost for Wi-Fi installation (ail zones) WATER TREATMENT

\$211,814.00

ELECTRIAL AND NETWORK PARTS	Qty WI-FI COMPONENTS LABOR TOTAL	3 \$2,158.00 \$5,250.00 \$7,408.00	2 \$1,384.00 \$3,500.00 \$4,884.00	3 \$2,076.00 \$5,250.00 \$7,326.00	4 \$2,768.00 \$7,000.00 \$9,768.00	1 \$587.00 \$1,750.00 \$2,337.00	2 \$1,174.00 \$3,500.00 \$4,674.00	2 \$1,174.00 \$3,500.00 \$4,674.00	1 \$587.00 \$1,750.00 \$2,337.00	1 \$587.00 \$1,750.00 \$2,337.00	2 \$1,384.00 \$3,500.00 \$4,884.00	1 \$692.00 \$1,750.00 \$2,442.00	1 \$1,469.00 \$1,750.00 \$3,219.00	4 \$2,768.00 \$7,000.00 \$9,768.00	3 \$2,076.00 \$5,250.00 \$7,326.00	4 \$2,768.00 \$7,000.00 \$9,768.00	00.0\$ 00.00\$ 0	5 \$3,460.00 \$8,750.00 \$12,210.00	1 \$692.00 \$1,750.00 \$2,442.00	3 \$2,076.00 \$5,250.00 \$7,326.00	12 \$8,199.00 \$21,000.00 \$29,199.00	3 \$2,076.00 \$5,250.00 \$7,326.00	2 \$1,384.00 \$3,500.00 \$4,884.00	4 \$2,768.00 \$7,000.00 \$9,768.00	1 \$692.00 \$1,750.00 \$2,442.00	5 \$3,460.00 \$8,750.00 \$12,210.00	2 \$1,384.00 \$3,500.00 \$4,884.00	1 \$692.00 \$1,750.00 \$2,442.00	3 \$2,853.00 \$5,250.00 \$8,103.00	2 \$1,174.00 \$3,500.00 \$4,674.00	1 \$1,210.00 \$1,750.00 \$2,960.00	2 \$1,384.00 \$3,500.00 \$4,884.00	4 40 00 00 00 00 00 00 00 00 00 00 00 00
	LOCATION / ZONE	1. Office Area	2. Loading Dock	3. Maintenance Shop & Garage	4. High Service Pump Gallery	5. Laboratory, including IT Office and Haliways	6. Breakroom	7. Training Room	8. Conference Rooms	9. Control Room	10. Maintenance Offices	1.1. North Treatment Facility Headworks	12, North Treatment Facility Chemical Application	13. North Treatment Facility Filter Gallery	14. North Treatment Facility Filter Pipe Gallery	15. High Service Pump Pipe Gallery	16. Bridgeway	17. South Treatment Facility Filter Gallery	18. South Treatment Facility Hoistway Area	19. South Treatment Facility Basin Area	20. South Treatment Facility Centrifuge - Chemical Application-	21. South Treatment Facility Filter Pipe Gallery	22. South Treatment Facility Wash and Transfer Pump Gallery	23. South Treatment Facility Blowers, including Dehumidification	24. South Treatment Facility Flocculation Drives & Passageway	25. South Treatment Facility Solids/Residuals Handling (Subbasement	26. South Treatment Facility Thickener & E.O. Basins	27. South Treatment Facility Residuals Truck Bay	28. South Treatment Facility Chemical Storage & Transfer Rooms,	29. South Treatment Facility Laboratory	30. South Treatment Facility Chemical Unloading	31. Generator Building – Control Area and Equipment Area	3.2 Holland Interconnect Building

Clean Water Plant				
Wi-Fi Component Item Description	Item #	Qty	Bid Price Per Unit	Bid Price for Zone
C9115AXE-B	1	10	\$692.00	\$6,920.00
			Wi-Fi Components Total	\$6,920.00
CWP Wi-Fi Installation Labor			CWP Wi-Fi Installation Labor Total	\$574.00
	Buist		AP Mounting	\$1,749.00
·			Zone Total	\$9,243.00
Zone Notes:				7



SERVICE | CONSTRUCTION | TESTING | OUTDOOR UTILITIES | COMMUNICATIONS | AUTOMATION | ENGINEERING | MEDIUM VOLTAGE | AUDIO/VISUAL May 20,2021

Quotation #: **B210053**

Cory Doll Sentinel Technologies, Inc. 4595 Broadmoor Avenue SE Grand Rapids, MI 49512

RE: City of Wyoming - Enterprise Wi-Fi Solution Phase 1

Cory:

Buist Electric has reviewed the requirements of the work and will provide labor, materials and equipment to complete the following:

- Installation of a customer provided wireless access point at the Water Treatment Plant to include:
 - o (100') Average ¾" IMC conduit
 - Paint conduits and boxes as needed
 - o (200') Average of Category 6 CMR network cable
 - Terminate, test and label according to industry standards
 - Firestop all penetrations as needed per code and standards
 - o Pricing does **not** include prevailing wage
 - o Patch cords are **not** included

Total **Bid** Price: \$1,750.00/per location

- Installation of (10) customer provided wireless access points at the Clean Water Plant
- Pricing does **not** include prevailing wage
- · Patch cords are not included

Total Bid Price: \$1,794.00

This price is valid for (15) days and will be subject to review after that time.

Thank you for the opportunity to submit this quotation. Please feel free to contact me directly at (616) 583-5276 with any questions.

Respectfully,

BUIST ELECTRIC

Jason Williams

Jason Williams Communications Project Manager

JW/ce

buistelectric.com -

B210053 – City of Wyoming – Enterprise Wi-Fi Solution Phase 1 May 20, 2021 Page 2

Notice to Proceed

The above prices, specifications authorized to do the work specifications	and conditions are satisfactory and are hereby accepted. You are ied.
Date Accepted: P.O. #:	Signature:
	(Please sign and email back)



SERVICE | CONSTRUCTION | TESTING | OUTDOOR UTILITIES | COMMUNICATIONS | AUTOMATION | ENGINEERING | MEDIUM VOLTAGE | AUDIO/VISUAL May 21, 2021

Quotation #: B210053 R1

Cory Doll Sentinel Technologies, Inc. 4595 Broadmoor Avenue SE Grand Rapids, MI 49512

RE: City of Wyoming - Enterprise Wi-Fi Solution Phase 1

Cory:

Buist Electric has reviewed the requirements of the work and will provide labor, materials and equipment to complete the following:

Option #1: Water Treatment Plant EMT Painted

- Installation of a customer provided wireless access point at the Water Treatment Plant to include:
 - o (100') Average ¾" EMT conduit
 - Paint conduits and boxes as needed
 - o (200') Average of Category 6 CMR network cable
 - Terminate, test and label according to industry standards
 - Provide labor and equipment to core holes through concrete and block as needed
 - Install the provided wireless access points
 - o Install the (6) provided Oberon boxes
 - o Provide platform lifts
 - o Firestop all penetrations as needed per code and standards
 - o Pricing does **not** include prevailing wage
 - o Patch cords are not included

Total Bid Price: \$1,211.00/per location

Option #2: Water Treatment Plant EMT Not Painted

- Installation of a customer provided wireless access point at the Water Treatment Plant to include:
 - o (100") Average ¾" EMT conduit
 - o (200') Average of Category 6 CMR network cable
 - Terminate, test and label according to industry standards
 - Provide labor and equipment to core holes through concrete and block as needed
 - o Install the provided wireless access points
 - o Install the (6) provided Oberon boxes
 - Provide platform lifts
 - Firestop all penetrations as needed per code and standards
 - o Pricing does **not** include prevailing wage
 - o Patch cords are **not** included

Total Bid Price:	\$1,090.00/per	location

- buistelectric.com –

2 - 84th Street SW Byron Center, MI 49315 P: 616-878-3315 F: 616-878-3556

3201 Lake Street Kalamazoo, MI 49048 P: 269-343-9191 F: 269-343-1122 B210053 R1 – City of Wyoming – Enterprise Wi-Fi Solution Phase 1 May 21, 2021 Page 2

Clean Water Plant

- Installation of (10) customer provided wireless access points at the Clean Water Plant
- Pricing does not include prevailing wage
- Patch cords are **not** included

Total Bid Price: \$1,794.00

This price is valid for (15) days and will be subject to review after that time.

Thank you for the opportunity to submit this quotation. Please feel free to contact me directly at (616) 583-5276 with any questions.

Respectfully,

BUIST ELECTRIC

Jason Williams

Jason Williams Communications Project Manager

JW/ce

Notice to Proceed

The above prices, specifications and conditions are satisfactory and are hereby accepted.	You are
authorized to do the work specified.	

Date Accepted:	Signature:
P.O. #:	
	(Please sign and email back)